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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
XS Z A 11,319,542 10,620,826 698,716
= 263,366
& 2,150,000
=2 40,000
< 316,566
s 8,549,610
MAHAEE 1,468,103 2,071,496 A 603,393
= 263,366
&2 40,000
< 54,566
s 1,110,171
MHehAlE 24d 35t 39,608 40,870 A1,262
HeHAIE 243 & AMEE w2 39,608 40,870 A 1,262
201 Let24d] 31,400 28,856 2,544
01 At 22/l 10,200 10,200 0
< LEr=ZHl > 0
o MeHAIE 243t 222 WA
00,000& * 28 « 23l 1,200
<YgX=E > 0
o AHEFANE EXME 750,000& = 12& 9,000
02 =224l 21,200 18,656 2,544
<E3S2SEHMA > 0
o 5UAE HIIe=
150,000& » 3MH A » 128 5,400
o 5PANE B #=HE
600,000 * 3Mx * 13 1,800
o NEBANZ B8 FAY
1,000,000& = 13l 1,000
< A& &HI=XHl > 0
o EE, ME, E0HUZEH AlZ2e KXY
4,333,300 * 30H A 13,000
307 glz2tol & 8,208 8,183 25
05 RIZHRIE 3 8,208 8,183 25
o SEANE, HdAME EL ES 8,208
- AEEE ARy
8,000& = 3H » 6 » 123 8,208
AYSot e+d 2e| 1,680 1,680 0
SIHEZAL & XSO +E 2e| 1,680 1,680 0
201 et 1,680 1,680 0
01 At 22l 1,680 1,680 0
<2Ysy > 0
o AHITIEHMAOISAS BMLY
70,000& * 1294 « 23| 1,680
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A RIS

(L=,

oiHxiolg sa

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
adXxIolE & 891,000 1,474,217 AB83,217
Ol AKXl A& & AF 91,000 72,467 18,533
201 LB-2d| 1,000 1,000 0
01 At 22l 1,000 1,000 0
< Lek=ZHl > 0
o MUXZESY 222 WA
1,000& = 53 * 20004 1,000
402 2I2H X201 M 90,000 45,000 45,000
01 RIZERt2E X 90,000 45,000 45,000
o MUK F=SHEX A
1,500,000& * 607t 90,000
SAIA BSAE 800,000 1,400,000 A 600,000
402 RI2EX=20l A 800,000 1,400,000 A 600,000
01 22t 22X 800,000 1,400,000 A 600,000
o TAIMA B2 100,000,000& * 8IH A& 800,000
NS ZHEA st 535,815 554,729 A 18,914
= 263,366
& 40,000
< 54,566
[ia 177,883
ZH 43 13,548 26,525 A12,977
201 LBt 5,628 11,445 N5,817
01 At 22l 5,628 11,445 A5,817
< Sl > 0
o NEZH SRFA 7,000& * 48 » 201 5,628
202 o4dl 3,920 10,080 A6,160
01 = LH o4 1l 3,920 10,080 26,160
o NAZH 2= 20,000 * 4% = 49 3,920
203 YR =& 4,000 5,000 21,000
03 AIBZFA AR ZAY| 4,000 5,000 21,000
o NEZH g2F 1,000,000& * 42 7| 4,000
NE3sH Xiel &= 207,837 242,274 N 34,437
= 94,623
< 28,354
s 84,860
101 1A Hl 195,754 217,040 A 21,286
= 89,114
= 26,711
s 79,929
04 JIZHHZ2XRHEE S 195,754 217,040 AN21,286
o Jled3a 728,250&3 * 30Y¥ x 8 174,780
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AN XSEEH
Hu: MRS
el NG3NeEds (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o AMHEIIY dXelEE
1,025, 1102 = 2JH01e = 5% = 1204H& 123,014
= 98,411
< 4,920
e 19,683
o AL E I AHS OH & 4|
18,957,925& = 20401 37,916
= 30,332
< 3,792
[ia 3,792
nEsd 2 oHE 1,170 1,940 ATT70
224 =XsH 1,170 1,940 AT70
T Ar2te 1,170 1,940 AT70
201 ¢er24l 770 1,540 AT70
01 At 2t 2l 770 1,540 AT70
<2 > 0
o LAEEls HAsg
70,000& = 11¥ = 13 770
301 et a = 400 400 0
10 HALAHI 242 400 400 0
o el L XNE 2ets HADA
20,000& = 209 = 13 400
AEigssd 538,678 475,822 62,856
= 42,000
i 496,678
I EXEA 213,000 201,000 12,000
= 42,000
s 171,000
sANJY =4 129,000 129,000 0
201 €24 2,000 2,000 0
01 At 22l 2,000 2,000 0
< dpt=24l > 0
o JgMNEES EES HMH
1,000,000& = 20H A 2,000
308 XXIEHH SOl A 127,000 127,000 0
05 XMUY= 127,000 127,000 0
o EAJERLEIZ £H3 (Hetgx)
127,000,000& = 12 127,000
Sa)|gy FEHCQHEZME 84,000 72,000 12,000
< 42,000
e 42,000
307 glz2+ol & 84,000 72,000 12,000
= 42,000
s 42,000
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 QI2tAAME X 84,000 72,000 12,000
o EAJY HUEUCH 2IEXZ
7,000,000 = 12¥4 84,000
& 42,000
o 42,000
ENsXE=E 325,678 274,822 50,856
ENSX 228 2 24,628 23,422 1,206
201 LBt 9H]| 17,748 17,362 386
01 AP 22| H| 15,128 14,872 256
< det=ZH| > 0
o EXNRX sE2=2K¢0 3,000 = 2,0000H4 6,000
o EX|X =T HH| 500,000& * 1J0H A 500
o EXNRALYENI A
1,500,000& * 23l 3,000
< Z2gHH| > 0
o EXNgX =& 7,000 * 49 « 201 5,628
02 Z2=2=24%4| 2,620 2,490 130
< BZ2QL2YLHAM > 0
o EXNSX EE2 YL I ot g2
LQER2 1,900& * 1,000 1,900
o HYHUY 223 60,000 = 12&€ 720
202 04| 6,880 6,060 820
01 2Ll 6,880 6,060 820
o EXNSINE=SHIN 20,000 * 4% x 86 6,880
EXNEX AR HELX A2 A 151,050 101,400 49,650
401 Al HI L £ 0HHI 151,050 101,400 49,650
01 Al&H| 150,000 100,000 50,000
o ENSINAARIHEAXN MNUEZIHE S
75,000,000& * 2J0 A 150,000
03 A& 2 HH] 1,050 1,400 A 350
o EXNgRINAAR MELX IAEZME S
150,000,000 = 0.7% 1,050
NAMAME AF=SH X 150,000 150,000 0
307 giztol A 150,000 150,000 0
02 QI2tAAME X 150,000 150,000 0
o NAMAME YFEIY AHD N
2,200 x 5,681.8m * 12& 150,000
MAATZL 2 29 1,543,364 208,940 1,334,424
2 350,000
= 1,193,364
N AT L e 1,543,364 208,940 1,334,424
2 350,000
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& 200,000
s 1,000,000
401 Al HIZ 201 8] 200,000 0 200,000
& 200,000
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o UdH Ex=I5AE XA
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03 A& =2 THHI 1,440 0 1,440
o ULME B42IAL £XAY =W
200,000,000& = 0.72% 1,440
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402 RIZEX20l A 1,000,000 0 1,000,000
02 QI2HCH & AFH HI 1,000,000 0 1,000,000
o LIS S3IIBAE X&
1,000,000,000& * 12 1,000,000
Ssh, AHS3EX ==IIBAIE El 250,000 200,000 50,000
& 150,000
e 100,000
401 Al HIZ 201 Y] 250,000 200,000 50,000
& 150,000
s 100,000
01 A& HI 248,200 198,000 50,200
o S, M4H=s3HX =FIIBAIE FI
124,100,000& * 200 A& 248,200
& 150,000
e 98,200
03 Al SR THHI 1,800 2,000 A 200
o &, &AsEsHA ==FIIBAIE Edl =&
250,000,000& = 0.72% 1,800
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101 14 Hl 5,420 0 5,420
04 JIZHHZ2XREES 5,420 0 5,420
o STUX BAFY L HEXY oY
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o AUHEER 4,839,000 * 12% 581
201 Let2d] 7,656 0 7,656
01 At 22l 304 0 304
< YEt=2Hl > 0
o STOX +EAMN 222
75,8004 * 28 23| 304
02 =224l 7,352 0 7,352
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sdE A
A
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Z9d 22 € XA 4,434,000 5,463,000 A 1,029,000
< 220,000
e 4,214,000
Hled &4843 843,000 843,000 0
< 40,000
s 803,000
307 glz2tol & 843,000 843,000 0
< 40,000
s 803,000
09 2HAHAEXS 843,000 843,000 0
o YWl d 2AEAZ  70,250,000& » 123 843,000
< 40,000
[ia 803,000
280 |otEx32 A& 3,000,000 4,160,000 A 1,160,000
307 21201 A 3,000,000 4,160,000 A 1,160,000
09 2+=HAHEEXS 3,000,000 4,160,000 A 1,160,000
o 2FEMEFAAES EX
250,000,000& * 128 3,000,000
HATSAH2+HH HEXA 591,000 460,000 131,000
< 180,000
e 411,000
402 RIZEX20| A 591,000 460,000 131,000
= 180,000
fia 411,000
01 RIZEAt2E X 591,000 460,000 131,000
o SHEHASSEM MEXZ
140,000,000& = 43 560,000
< 180,000
[ 380,000
o PAENSHS 2R 2E
7,750,000& * 43| 31,000
haswns 435t 90,898 164,478 AT73,580
sEHA EXE £X 2 WA 15,000 9,500 5,500
401 Al HI K 201 I 15,000 9,500 5,500
01 A& HI 15,000 9,500 5,500
o sEWHA EXE FHl  500,000& * 30002 15,000
===l 75,898 154,978 AT79,080
201 L2l 22,998 24,938 A 1,940
01 At 22l 5,418 7,728 22,310
< S EHI> 0
o WsdHE JRFEX  7,0008 » 6% » 109 4,578
<2Ysy > 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o NEOMEHMAolSIAS ALY
70,0003 = 6% * 23] 840
02 =224l 17,580 17,210 370
<SS ZAHAM > 0
o ZAHAFEEBAAY M) Y SRS
1,465,000& » 128 17,580
202 04l 2,900 5,040 A2,140
01 S LHOIYI 2,900 5,040 22,140
o WNsdHE JRFE 20,0008 5 » 20 2,900
207 A O H] 20,000 95,000 AT75,000
01 289 20,000 95,000 AT75,000
o sEHA 2 LM MHEAM EY
20,000,000 * 13l 20,000
307 glz2tol & 30,000 30,000 0
05 RIZHRI & 3 30,000 30,000 0
o FAHAXMBAIAE 22|l
2,500,000& * 128 30,000
= SR 3,171,014 2,178,064 992,950
& 1,800,000
[ia 1,371,014
PARSEEEDN] 3,171,014 2,178,064 992,950
= 1,800,000
s 1,371,014
Aot d 3t 3,171,014 2,178,064 992,950
& 1,800,000
s 1,371,014
201 Let24d] 3,374 2,184 1,190
01 At 2teltl 3,374 2,184 1,190
<2g+y > 0
o AMBONAMOAS HAALY
70,0003 * 4H « 23| 560
< =gl > 0
o MJEHS AREX
7,000& * 298 * 201 2,814
202 (44l 3,440 1,680 1,760
01 = LH 4 1l 3,440 1,680 1,760
o MBS AREX
20,000& = 2H = 86 3,440
301 et a3z 3,000 3,000 0
10 HALA B 242 3,000 3,000 0
o aItEds A2 HE 3,000,000 3,000
303 Z& = 11,200 11,200 0
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M AIIEE
o XA (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 243 11,200 11,200 0
o BHNYRE S4B A4 11,200
- HAM(AD, Y, HAY)
3,000,000& 3,000
- A (AL, SH, HelIYE) 4,000,000 4,000
- ZolA(AD, %, Heg) 4,200,000 4,200
307 21201 A 150,000 160,000 210,000
02 2ltF & E X 50,000 60,000 210,000
o A&30 N (FZdUz) 50,000,000 50,000
08 OIXt2& = 100,000 100,000 0
o A4T NFML(OIMBH, BE44E)
100,000, 000& 100,000
401 Al HIZ 201 Y| 3,000,000 2,000,000 1,000,000
& 1,800,000
s 1,200,000
01 A& HI 2,992,500 1,995,000 997,500
o S0/8 AtHel 8SAE SUHSME =&
2,992,500,000& * 1JH A 2,992,500
& 1,800,000
= 1,192,500
03 Al 2 THHI 7,500 5,000 2,500
o S0I8 AtHel 8SAE SUHsME =&
3,000,000,000& * 0.25% 7,500
HE2HAZH (XS ZHD) 72,315 57,086 15,229
olet 2 gl 47,888 31,975 15,913
ol 2AY| 47,888 31,975 15,913
101 @124l 47,888 31,975 15,913
01 2= 47,888 31,975 15,913
< =g > 0
o AN2ZRSE
7,390& = 18H = 30AI2+ « 128 47,888
PIEET 24,427 25,111 684
JlE&l 24,427 25,111 A 684
201 £B-2dH| 20,227 20,911 A 684
01 At 22l 18,105 17,205 900
< LEh=ZHl > 0
o MEES 7Y 5,500 * 20& 73l 770
o SEAMEX 7L 25,000& = 2082 « 103 5,000
o dISFE ¥ 1,800
- e 2003 = 50004 = 123 1,200
= 50 = 1,00004 = 123 600
o 40N Zgiyd 228 2L 2,550
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SA: NEFH
M. HYSHAY (KA Z M)

¢l =gl (chel & 9l)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
-c¥ 250,000& * 3CH 750
- El 150,000& * 6CH + 23] 1,800
o EANIAZRE P2 1,385
= 660,000& = 1CH * 13 660
- EY 145,000 = 104 = 504 725
o AFRIIJI(2AD],Z2IE) 2=2ld| 900
- SAJ| 22l 600,000& * 1CH 600
- T2y %2 300,000& * 1CH 300
o HeTsR 3,840
- %X 15,0003 * 88 * 12& 1,440
- X &X 10,000& *= 208 * 128 2,400
o MR M3 4,000 * 208 x 12& 960
o AEMA R0l 500& * 4 = 45004 900
02 =294l 2,122 3,706 A 1,584
< S3SL2LAHA > 0
o RERZ 2703 = 50001 * 12& 1,620
o FHYSAFEE 8,800& = 10H * 12& 106
o W2allas 33,000& = 1CH = 128 396
203 &R =&H| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
o 302 0|3at 350,000& = 12& 4,200
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